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SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 2LHoIH 3,000 0 3,000
OXNGEHASA HWSXEMA 2= 3,000
308 AXIMSOIA 162,000,000 0 152,000,000
= 138,000,000
= 14,000,000
183 S| 2SO ZB&HASAIE 162,000,000 0 162,000,000
OXNHgASA WSKEMA 7= 112,425,000
= 100,000,000
= 12,425,000
OYHRISEME =2g K& 1,675,000
OZ22ZU=30 =4 A2 38,000,000
= 38,000,000
OlcHOITH =24 (US/FOILESEUS) 203,066,373 228,720,546 N25,664,173
=Y - uSESMA 2= 203,066,373 228,720,546 A25,654,173
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201 fer=23y| 2,600 0 2,600
01 AtR2t2|Hl 2,600 0 2,600
Oou=ssd Mo =& 2,600
202 04| 2,000 6,000 4,000
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oussd e =& 2,000
307 glztol & 100,000 0 100,000
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OXNSIM Sgdat XA 100,000
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ONSHSEIIANES (AL N=Al) 177,000,000
OLSHISEIHMES(NLLSHNENS
g§3) 8,922,973
OnSHISEIANES(ZAI) 17,000,000
X0l 2ALR XI&(&EALR) 38,800 38,800 0
703 WEHISEIHEES 38,800 38,800
01 Al- = BEAHES 38,800 38,800
ORXILOILAIR RIS (&) 38,800
HMSISHN S (LS/BM - MYLK) 8,740,693 7,747,252 993,441
= 785,000
s 7,985,693
s 243t 8,740,693 7,747,252 993,441
= 785,000
< 7,955,693
ZEHE K& 7,425,731 7,403,000 22,731
306 E= 7,425,731 7,403,000 22,731
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LB GR(B) - HIRAY - B A HIDEZ
s =l S41H) (J1EHIIEH 28,941 38,330 9,389
Bl 28,941 38,330 29,389
29 Jl=2dtl 28,941 38,330 9,389
1 2erE2gl 19,671 26,130 6,459
1 Al 2]l 19,671 26,130 26,459
A2 A 19,671
6,270 8,600 2,330
6.270 8,600 22,330
24 3o 6,270
3,000 3,600 2600
3,000 3,600 2600
250,000 x 122 3,000
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